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PART - I / 9T - |
GENERAL INTELLIGENCE / 9= Ffegar

Which one of the given responses would be a
meaningful order of the following ?

1. India % Bangalore

3. Asia 4. Karnataka

=1 faaedl & @ FH-91 fases 9 &2 gu oisdl &7 |

Hrefer Y 9IiaT & 2

1. W@ 2. S

3. v 4, FHARH
@A) 1,234 B) 3,4,2,1
© 31,42 D) 3,1,2,4

Directions : In question numbers 2 to 9, select the related
word/letters/number from the given alternatives.

frdor : v wEA 29 97 fou wu fashedl # | wrafa wee/
el /dEm 1 |

Concord : Agreement : : Discord: ?

(A) Association (B) Blended
(C) Comparison @) Conflict
Tgufa - g - : Iedfd -2
(A) qE (B) fufxa
© To (D) fadm

KcaC:CacK:: XgmF: _?

(B) EgmX
(D) Gmef

(A) EmgF

() FmgX

|

4.

Female : Feminine : : Male: ?

(A) Macho (B) Manager
(© Man (D) Masculine
afgal : ST @ _ 2

(A) = (B) YHHH
(© areH (D) gfewm
PS:VY::Fl: 2

@ LO (B UX (O VZ
42:20::64: _?

) 31 (B) 32 € 33

Carpentry :Skill : : __? _ :Talent

(A) Driving () Masonry
(© Singing (D) Plumbing
TS P : 2?2 WiawW
(A) FRERHA ®) =+
© A (D) Termd

SUMO:PRJL:: TAXI:_?

(A) QXUF (B) QDNF
(© WDX] (D) QDVF
Las 2
. ?
4 8 3

L3 1 1
(A) 7 ® 3 Q 3

e

D) WZ

(D) 34

) 1
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Directions : In question numbers 10 to 18, find the odd
word/letters/number/number pair from the given

alternatives.
et : wv G 10 B 18 T H, fSu 71y fosredi o & fawm
vI=2 / 2R / T/ Tl T g0 |
10. (A) HGFE (B) UVWX
(O SRQP D) LK
11. (A) 56 (B) 36 () 66 D) 76
12, (A) (82,29) (B) (45,18)
(O (36, 27) (D) (23,14)
13. (A) Psychology (B) Fast
(C©) Knock (D) Wrong
14. (A) Circle (B) Triangle
(C) Cone (D) Rectangle
(A) 94 ® B
© WP (D) 3d
15. (A) IFH (B) NKM (O DAC (D) UTV
16. (A) Beans:Pulses (B) Rice:Cereals
(C) Tea:Beverages (D) Legumes:Nodules
(A) wferdl : e (B) & : U1
© 9@ :9guere (D) o - ufae
17.  (A) 8314 (B) 2518 (C) 3249 (D) 2709
18.  (A) MKIG (B) ZXVT
© SQOM (D) WUSP

Directions : In question numbers 19 to 22, aseries 1s given,
with one term missing. Choose the correct alternative from
the given ones that will complete the series.

et : vy HEm 19 4 22 8 v e o 2, o v 1
@ 71 e faspedi 9 98 | faes i S SEe
1 A |

19.

20.

21

22,

23

YLE T .. K

(A) N ® M ©) L D) O
411,17,22, 2 29,3132
(A) 23 (B) 24 € 26 D) 27

6 + ~216; 7 + 343; 8 + VJ512; 9 + V729;
?

(A 10 + V100 M) 10 + J1000

r———

© 10+ Jioooo () 10 + Jwﬁ

AZ CX,FU, 2

(A) IR B) IV © K D) KP

Unscramble the following letters to frame a
meaningful word. Then find out the correct
numerical position of the letters.

frefearfiad s1eRl 1 Teds = 991 & o0 928 T
W TET | 39 =g 218/ F1 98 A% frafd 3
FITT |

(A) 6347 125 B) 6742153

(Q 6241375 D) 6452173

DE-2015/Page3
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I

24.  After going 80 m from his house towards cast, a | 28.  Whichonc set of letters when sequentially placed at
person turns left and goes 20 m, then tums right the gaps in the givenletier series shall complete 1t
and moves 100 m, then turns left and goes 60 m, . ; i = < %
then turns right and goes 120 m to reach the park. B?FET{IH-TIE‘?H—HT-,I It ";[_fm[ L ML SRRAIT T Sl
y‘{!“mt is the distance between his house and the e A& gl sl 91U F ? Vi
"park? bbm_amb m_a bhbm

~ - - = = o et &
ST W A 1 SR80 m T & WL T Al A1 Ma) abmab " (B) mbabm
Hg‘_ﬁ"-_{ 20 m'ﬂ?’ﬁﬁﬁ,maﬁwm[lmm%l ad (Q ambbm -(fjj mabam
% 9 YIH 60 m 0O T, {5 o § g F oY
A LV} g 120 m_ﬂﬁ ¥ IOF W R UE F &= 29.  Infollowing series find 20" number.
ELEIRARE | FreAfafEd YEar § 20 d #4713 T 304 = Tiz=1 T1
(A) 100 m (B) 80m AT
8.1, =3, =7, =W L{0F
O 120m D) 20m 9,81, =3, -7, =\ | 3
(A) -70 (B 67 (Q —64 (O -7

25. I itis possible to formaword with the first, fourth, | 35 |f GUNDAY =18, MONSOON =21, YEAR =12
seventh and eleventh letters in the word ‘ o 'I:HURSDA"E;::? i ' -
‘SUPERFLUQUS, write the first letter of that word. PRGN ¢
T T 5 . g afs SUNDAY =18, MONSOON =21, YEAR =12,
afe ‘&:PPE]EFL;{;L-S’ = H R, 19, AR THURSDAY — ?

TEEd F5 § FE = T4 999 B b1 39 I Fl (A) 28 @) 24 ) 26 D) +2
gl AR fafau |
¢ 31. If P denotes +, Q denotes x, R denotes + and 5
(A) S L O J] ‘B ’ :
A 3 ® © ) denotes —, then 16Q12P6R553 =7 32 4
-q-‘ra z r %‘ 'L- ..rT ..-- % ' ! ?[

26. If FADE is coded as 3854 then how can GAGE be | 1'-'* i ﬁm 7% T Q A ﬁ TR Reh
coded ? Ta& ¢ 3RS — &I YAF ¢, d1 16Q12P6RISH =7
afz FADE #1 3854 F15 # forn 91 # 1 GAGE 1 @3 @31 Q32 B
wh ﬁ _}
w4 il 32. The sum of ages of mother, daughter and son 15
(A) 2814  (B) 1824 () 2834 (D) 2824 87 years. What will be the sum of their ages arter

8 years ?
27.  if ‘=" stands for addition, * +” for multiplication, HidT, ﬁ AR QA S MY FT AW E7 dU €| 831 =T
' + ' for subtraction and * x” for division, which one TE T B 7
3 1 y 1= ?
of the following equationsis correct (A) 105 B) 101 @ 110 O 211
qE S M EH AU+ M F FUE s W&
fm & i % W w2 A Frerferfaa 5§ 8 - 33.  Choose the similar group of numbers on the basis of
i ‘ - ‘ BT o ) certain common propertics they possess:
HHTHTT . o o
R FEqal 1 4O AYE &l FE 9 A= T %
N, A Iy, Bt P L =
{:“"'t) 5 ...:*I._i’cﬁ;_ L '."“""'1 Y dﬂﬂﬂq{ﬁﬁ[’!
. T » S To R S
€) 512-12%6: 2=10 (A) (63, 70, §6) (B) (51, 57,78)
(D) 5+2+12x6—-2=4 () (24, 69, 58) D) (35, 66,77)
: _._..r':

SPACE FOR ROUGH WORK / 1% &4 & fod 9mg
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Directions : In question numbers 34 and 35, arrange the
following words as per order in the dictionary.

fodoT : wve 9@ 34 3R 35§, fFeafafEd vl & s ivl 3§

feu Mo FH & ER faE |
34. 1. Necessary 2. Navigate
3. Nautical 4. Naval
(A) 2,4,3,1 B) 4,3,2,1
) 3,4,2,1 D) 3,2,4,1
35. 1. Range 2. Rain
3. Rein 4. Ranger
) 2,1,43 (B) 2,4,3,1
O 2,3,4,1 D) 2,1,3,4
36. Which conclusion is true with respect to the given
statements 7
Statements:
(i) Roy studies History and Political Science.
(i) Roy studies in Oxford University.
Conclusions:
(A) Roy studies Social Science.
(B} Roy does not study History.
(O Roy does not study Political Science.
(D) Roy studies History and Political Science in
Oxford University.
feu 7o FHYAl & o= ° -9 frerd w9E ¥ 2
9hygn:
() AT 3foer@ iR wrHifa fagm gadi 21
(i) Wa sfens gfafdet § gad 1
e -
(A) 3 Tmferes faa ved B
(B) U7 3faerd el vgan!
(O g srHita e =1l 9aan |
(D) U3 s grafdd ¥ faem dAR TeHIfq
faa vgar 21
37. Themallis 250 meters north-west of the market. The

school is 250 meters south-west of the market. In
which direction is the school from the mall 7

(A) North {B) East
(©) West (D) South

i SR o 250 T SW-IY=a § 2| T =+
250 HTeX Tfem - 9ivam ¥ 21 e Wia 9 f6a fam
qE7

(A) SW
O ¥R

®) 94
(D) &

38.

39.

£,
s

If Ramya’s rank is 22"4 out of 46 students. What is

her rank from the last ?
Ife 46 BT | T 1 1 22 91 8 A1 3ifqn DR 4 SHHI
% -G am ?

(A) 24 (B) 26

Q 29 D) 32

Two statements are given, each followed by two

conclusion/assumption, I and II. You have to
consider the statement to be true even if they seem to
be at variance from commonly known facts. You
have to decide which of the given conclusion/
assumptions, if any, follows from the given

statements.

Statements:

(i) Some papers are pens.

(i) All the pencils are pens.
Conclusions:

I. Some pens are pencils.

II. Some pens are papers.:
(A) Only I conclusion follows
(B) Only II conclusion follows
(O Either I or II follows

(D) BothIand II follow

<1 sy few u ¥ fomer am < frewd /e 1 3R
[ fremal ML € 1 39 WA R fF w9 99 € AR 4
TG 99 a2 | fas udid @ 3 sl g
+0 ¢ f fow T fremdl / yafom 9 9 $E-91/%0-
4 fafvad &9 9 F9A/F99 g0 el Faen 51 g&d
g/9%d €, afc #1E |

<h¥gq:

(i) FO FFS FATT |

(i) 91 U Fem T

frent

L F9 Fod 9FHE |

. &9 ®H FOH B

(A) Fad Frewd [ fAwad g1

@®) wae fred 11 feerar €1

©Q = 1A e g

D) 2l e [ SR 11 a2

SPACE FOR ROUGH WORK / T %1 % ford w1Tg
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Directions : In question numbers 40 to 43, select the missing
number from the given responses.

fder : w97 11409 43 49 U g faredi O | o« S I
HITAT |

4.

4].

42,

43.

49
/3|4
(A) 4 (B) 21 (O 20 ®) 5
2 | 8 [ 16 | 32
5 | 15 { ? | 135
6 | 24 | 96 | 384
(A) 30 (B) 32 @ 45 (D) 80
874
1 | 3| 5
2 | 4 | 6
3|1 ]9
1 | 7 | 2
@2 ®»4s  ©O6  (DSB
& 3
s [7719 9[72]6
8 7
(A) 75 B) 77 S 79 D) 73

Which answer figure will complete the pattern in
the question figure ?

F1H- 1 ST ATHIG Y93 IHIT 2 TTEY & QI HTTN ?
Question figure/maﬂ?ﬁf

24

Answer figures/ 3T Wﬁ

NIRIM=

(A) (B) () (D)

46.

47.

Identify the answer figure from which the pieces
givenin the question figure have been cut.

Tt SR AT TR FTER WY A A feu
IS HETLE |

Question figure /W¥ 3TThid

—_—

7

Answer figures/3TI{ S ICAGE |

AN

(A) ) (C) (D)

Which figure will best represent the relationship
amongst the three classes ?

Boy, Sportsman, Student
-4t smnfa frafafea 9@ ai % o9 999
gaiad e ?

(@ W @0

The image of a cJock in 2 mirroris seen as 3.15. What
is the right time ?

gdor & wel & wicfam ¥ 3.15 feaw a1 81 WE 997
41 qm ?

(A) 9.45

© QOO

B) 845 (O 1045 (D) 745

SPACE FOR ROUGH WORK / T& &4 & fordl wig
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A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix II are
numbered from5t0 9. A letter from these matrices

can be represented first by its row and next by its
column, e.g., ‘I’ can be represented by 00, 14 etc,,
and ‘N’ can be represented by 59, 68 etc. Similarly,
you have to identify the set for the word "ROAD".

TF VI Fad UF HSA-998 §RI qUidl T4 B, S
fo fagedi § § fordl w o femr T €1 fowcdi o
feu U GE-aqE J & < 9 g geY M
S o A few T St STregEl | 1 MR- W
A dfm T F@N 0 V4 H §f T T R ATHEI F
58 9. 39 3Rl W Tah &R i el 39H! UfF R
a1e § T T g <9l S Gehdl €| 3SR F
g, ‘7 1 00, 14 3NfE GRI TGN S GHdl € 741 ‘N’
&1 59, 68 1fec T WA A1 Thal &1 TH WE 4
3T9eh! 99 § feU 92 'ROAD’ & AT &g &l T8

gl

Matrixr'aﬂag.'-l Matrix / g - II

o[1]2]3]4 s|lel7]8]9
ol 1 [ MIw]s|Q s|OlA[D|R|[N
1MW5F}I 6 |lA|DIR[N]O
2 [wls|Ql1 M 7ID|IRIN|[O|A
3(s|aol1{M|w]|] |8|R|N|[O|A|[D
s (Ql1|[M|W]|S 9 [N|O|A|D|R

(A) 96,67,56,57  (B) 67,96,56,57

Q) 56,67,57,96 (D) 67,57, 96,56

49,

50.

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened ?

9 yeq apfadi A fe@m sqan F1Ts &1 ATgH
FTEA qY1 @i & 918 9% 9 39 1% 14 514 fears

qm?
Question figures /W9 a@ﬁ

AON

=

VA ey

Answerfigures/ﬁﬂ@ﬁl’éﬁ
A ,h 1
|
(C (D)

The solid so formed by ioining unit cubes is rotated
to obtain different positions, which of these cannot
be the shape after it has turned ?

F & fAu qHE T 21 I F 91E 30 9 RE-9
A & &l Hehdll © 7

(A) (B) |

_".,.-"'

o [T t'

SPACE FOR ROUGH WORK / T% &Td & fod sre
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FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CANDIDATES ONLY

Directions : In question numbers 44 to 46, select the missing

number from the given responses.

oy : Uva HEm 44 T 46 ¥, fou U faehedi | 9 @ 3

14 HIfST |
44. 3 4 6
9 12 18
27 36 54
32 41 ?
(A) 57 (B) 59
© 53 (D) 50
45. 1,6, 30,120,360, _?
(A) 720 (B) 640
Q) 450 (D) 540

46.

47.

41,37, 31,29,23,19, __ 7

(B) 23
D) 15

(A) 21
Q 17

Select the related word from the given alternatives.
Speaking : Audible:: Writing: __ 2 __

(A) Decorative

(B) Legible

Q) Cursive

(D) Print

feu T fawedl | FWealaa e &l 999 ST

EIGELEE C R LG k| R

48.

49.

50.

If ANT is coded as 35 then TAN is coded as ;

afe ANT 135 Fifed {1 e S TAN &1 51 F172d
foram s ?

(A) 32

Q) 54

[f3*2=25:8%7=225then7*2=7?
e 3%2=25:8*7=2251d1 7*2=7
(A) 49

© 144

Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it ?

7oA § el &1 FHE-H TE Gl #E R HHTR
TG ¥ < TR ER @ i T F W

_bc_ _bb_aabc
(/) acac (B) babc
(C) abab (D) aacc

SPACE FOR ROUGH WORK / T% &Td o T w78
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PART - 11
ENGLISH LANGUAGE

Directions : In question numbers 51 to 54, choose the word
opposite in meaning to the given word and mark it in the

Answer Sheet.

51. Appoint
(A) Disunite (B) Dismiss
(O Reward (D) Yield
52.  Bizarre
(A) Comical (B) Droll
(O Ridiculous (D) Ordinary

53. Accusation

(A) Exculpation {B) Encouragement

(©) Complaint (D) Felicitation
54. Guilty

(A) Sorry (B) Dubious

(O Honest (D) Innocent

Directions : In question numbers 55 to 58, out of the four

alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

55. Pawn
(A) Pledge (B) Sponge
(C) Scrounge (D) Hire

56. Chastise

(A) Chase (B) Praise

(©) Upbraid (D) Monitor
57. Fecble

(A) Small (B) Weak

(O Playful (D) DPretty
58. Maestro

{A) Novice (B) Genius

(C) Admirer (D) Emplovee

FEQUIS/PageQ

Directions : In gquestion numbers 59 to 62, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the circle
| @ ] corresponding to the appropriate letter (A), (B), (C). If
a sentence is free from error, blacken the circle
corresponding to (D) in the Answer Sheet.

59. Onemust / obey one’s / teachers. / No error
(A) (B), . ©) (D)

60. Make what you write / and say more /
(A) (B)
absorbed and engrossing. / No crror
\®; (D)

61. She always fed / her childrens /
(A) (B)

before she fed her dog. / No error
© (D)

62. They came herein /the evening and begin making/
(A) ()
further arrangements. / No error
©) (D)

Directions: In question numbers 63 to 72, in the following
passage some of the words have been left out. Read the
passage carefully and choose the correct answer to each
question out of the four alternative and fill in the blanks.

In civilised life there isarule _63 _violence, against
taking the _64 into our hands. Itis a rule which _65 of
us observe so often, indeed, that a great _66_ of people go
through life_ 67 orderliness and non-violence as part of
the scheme of nature. But when __ 68  comes into their
midst 69  refuses to observe the current rules, and

70 _the simple rule that might is right, the law-abiding
members _71 _society do not know what to do, and look
onin__72 bewildered confusion.

63. ¢A) against (B) upon
(C) after (D) at

64. (A) rule M) law
(O) police (D) people

65. (A) many (B) every
((:} most (D} none

66. (A) capacity (B) sum
(O amount (D) number

67. (A) notaccepting (B) accepting
(O) notexpecting (1D) expecting
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68. (A) none (B) everyone
(O noone (M) any one
69. (A) where (B) whom
(¥ who (D) how
70. (A) follows (B) follow
(O following (D) followed
71. (A) in (B) on (O of (D) at
72.  (A) helpless (B) helpful
(©) helping (D) helped

Directions : In questions numbers 73 to 76, a part of the
sentence is underlined. Below are given alternatives to the
underlined part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

73. Hundreds of children are deaf born every year.
(A) deafarebornevery (B) everybornare deaf
(C) arebormndeafevery  ([y) Noimprovement

74. Beingill, he came to work.

(A) Hecame to work and fell ill

(B) Despite coming to work, he was ill
#© Inspite of being ill, he came to work

L

(D) Noimprovement

75.  Sheis willing to help you.
(A) wilful
(©) wilfully

76. She had realized that she had seen him before.

(A) had been realized @) realized
(©) has realized (D) Noimprovement

(B) willingly

) No improvement

Directions : In question numbers 77 and 78, a sentence has
been given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best expresses
the same sentence in Passive/ Active Voice and mark your
answer in the Answer Sheet.

77. Theboys were making kites.
(A) The boys had made kites.
(B) Kites are being made by the boys.
{C) Kites were being made by the boys.
(D) Kites are made by the boys.

78.  He will not use the computer.
(A) The computer he will not use.
(B) By him the computer will not be used.
(©) The computer will not be used by him.
(D) The use of the computer will not be by him.

DE-2015/Pagel0

Directions : In question numbers 79 and 80, a sentence
has been given in Direct/Indirect. Out of the feur
alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct and mark vour answer

in the Answer Sheet.

79. The Policeman said to the driver, “Do you have a
licence ?”

(A) The policeman asked the driver whether he has
a licence.

(B) The policeman asked the driver whether he
have a licence.

{O) The policeman asked the driver whether he had
a licence.

(D) The policeman asked the driver whether he had
had a licence.

80. The teacher said to the students, “March quietly to
the ground.”

{A) The teacher instructed the students to march
quietly to the ground.

(B) The teacher said to the students that they
should march quietly to the ground.

(©) The teacher instructed the students that they
should march quietly to the ground.

(D) The teacher instructed the students that they
must march quietly to the ground.

Directions : In question numbers 81 to 84, out of the four
alternatives, choose the one which can be substituted for

the given words/sentences and indicate it by blackening
the appropriate circle [ @ ] in the Answer Sheet.

81. Onewho compiles adictionary.
(A) Lapidist (B) Lexicographer
(O Cartographer (D) Bibliographer

82.  Artof working with metals.
(A) Metalloid (B) Meteorite
(©) Metaphysics (D) Metallurgy

83. A place where birds are kept.
(A) Apiary ~ (B) Aquarium
(O Aviary (D) Sanctuary

84. A gatheringatareligious place.
(A) Audience £B) Congregation
(O Spectators (D) Mob
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Directions ; In question numbers 85 to 88, sentences are
given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate circle | ® | in the Answer

Sheet.

85. The economic ~ has affected our sales
tremendously.
(A) crackdown (B) touchdown

(C) showdown (D) slowdown

86. All orders must the rules.
. (A) conformingwith (B) conformswith °
{O) conformto (D) conformsto *

87. Asthe doctor into the room, the nurse
handed him the temperature chart of the patient.

-(A) comes (B) iscoming
C) came (D) was coming
88. She failed to to her name.
(A) keepup (B) riseup
(C) line up (D) shine up

Directions : in question numbers 89 to 92, four alternatives
are given for the Idiom\ Phrase underlined. Choose the
alternative which best expresses the meaning of the
Idiom\ Phrase and mark it in the Answer Sheet.

89. International monetary affairs are governed by the
gnomes of Zurich.
(A) guardians of treasure
) witchcraft of Zurich
(C) foreignleaders
(D) big international bankers

90. Nowadays it has become a fashion to take French
leave.
(A) Taking leave to go to France
(B) Seeking permission from French Embassy
(O Saying goodbye in FFrench style
(D) Absenting oneself without permission

91. Toputinanut-shell
(A) To beblunt about something
(B) To be long and exhaustive about something

(C) "Tostate something very concisely
(D) To place something

92. Tomakeup one’s mind.
(A) Tothink creatively
B) Todecide whattodo
() Toremember things clearly
(D) To remind oneself of something

DE-2015/Pagell

Directions : In question numbers 93 to 96, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

93. (A) laborratory (B) laboratory
(©) laboratorry M) laboratery
94. (A) Pedistrian (B) Pedestrean
(C) Pedestrian (D) Padestrian
95. (A) humain (B) humane
(C) humein (D) humaen
96. (A) Ecuanimous (B) Equanimous
(© Equanamous (D) Ecuanemous

Directions : In question numbers 97 to 100, the first and
the last Part of sentence are numbered 1 and 6. The rest of
the sentence is split into four parts and named P, O, Rand
S. These four parts are not given in their proper order.
Read the sentence and find out which of the four
combinations is correct. Then find the correct answer and

indicate it in the Answer Sheet.

97. 1. Thestudents

P. touched the -

Q. arrived and

R. their teacher

S. feetof

6. withreverence

@A) QPRS (B) QRSP

© RQSP (D) QPSR
98. 1. Falcons have sharp angular wings

P. todivesharply

Q. and allow them

R. tochase their prey

S. thatgive them the speed

6. tocapture their victims

fA) SRQP (B) SQPR

(© QPRS (D) PRSQ
99. 1. Thissummer was the most

P. tobelieve that next

(Q. and we have reason

R. scorchinginliving memory,

S. vyearand the vear after

6.  will be hotter still

(A) QSPR (B) RQPS

(@ SRPQ (D) SPQR
100. 1. The watchman

P. andfound two thieves &

Q. wokeup when )

R with black masks ¢

S.  heheard the dog barking 1

6. tryingtogetin.

fA) QSPR (B) SPOR

(C) QSRI? (D) PORS
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102.

103.

104.

‘175 km more than the other.
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PART - IIT / ¥ - 111
QUANTITATIVE APTITUDE / G&T& & ATUSTT

1Two trains start at the same time from A and B and
proceed toward each other at the speed of 75 km/ hr
and 50 km/ hr respectively. When both meet at a
point in between, one train found to be travelled
Find the distance

between A and B.

21 Wmfeal U € 99 U A 3B ¥ 9o ANy
FIl & 3R Tk O I 9UF FAW: 75 .91, wfq =
3R 50 f. . wia sz %1 7fa 9 2m wed £ Ja
Tl 9 9 UF gL % GIH AT E 9 <@ Sl § (6
T {AMel il el | 175 o 11, s1fas amn &3
IHI T A JRB F d49 1 g G F1

(B) 875 km/f&.H.

(A) 857 km/ Tk Hi.

(© 785 km/ T4t (D) 758 km/ .41,

HE+Ezz,thenthevaluenfa—bis:
a
a2, P Lt Ra-bwiTIRE:
b a
@) 0 (B) 1 O 2 O) -1

A candidate who gets 20% marks in an examination,
fails by 30 marks. But if he gets 32% marks, he gets
42 marks more than the minimum pass marks. Find
the pass percentage of marks.

U yitenedt it foRET 9ien 5 207 A% 9T gU 3R 9%
30 3iH 9 a1 & T, fEA afe 77 32% iF Um
A1 At 39 FAqH InoiE 9 42 7F 3w 9 Ed |
SHTUTiehi 1 Ffderaar Jid 7 |

(A) 12%  (B) 52% (O 20%

) 25%

Successive discounts of 20% and 10% are equivalent
to a single discount of :

20% AR 10% F1 ®i0F 92 (Fd1 THd T2 F I A
.
(A) 30%

B) 15% (O 28% D) 25%

105.

106.

107.

108.

109.

- ; . , : g
The volume of a right circular cone which is obtaipe
trom a wooden cube of edge 4.2 dm wasting
minimum amount of wood is :

T e g 1% 1 A5aA f 4.2 dm FRF o7 &)
% 99 § F91 741 7 AR f99E %6 4 4 FFE =AY
©E, e

(A) 19404 cu.dm
(O 194.04 cu.dm

(B) 19404 cu.dm
(D) 19.404 cu.dm

The average expenditure of a man for the first five
months is T 1200 and for the next seven months is
< 1300. If he saves < 2900 in that year, his monthly
average incomeis:

U% HfH F 9B Gi9 TEE T @9 21200 7 30T
I WA WEE H WS 1300 71 A W 3w Aqd |
%2900 ®1 99d LAl ¢ dl 3H! AHS Hd 5™

feah &2
(A) T 1400
© T 1600

(B) T 1500
(D) T 1700

Measure of each interior angle of a regular hexagon
1S :

& Y 924F & T Aldiie HI0 F1 T 2 :
@A) 120°  (B) 100° (O 60° (D) 45°

Let ABC be a triangle and AD be the perpendicular
from the vertex A on the side BC such that

AD?=BD-CD. Then measure of Z/BAC is:

7H A 7% ABC U f349 § A BC YT W99 A &
AD 3H SR @d g fF AD2=BD-CD %, @ /BAC &I
TIW%:

(A) 1200 (-H) -“]UD ‘lq 9[}‘:' {D} ';'5-
The Vulgar fraction of (.3939 is:
0.3939 1 TumY fis 2 .

- B ¥ ' 11 D 17

<PACE FOR ROUGH WORK / T% &Td & forat @re
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112.

113.

(A) 147
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A merchant has 1000 kg sugar, part of which he
sells at 8% profit and the rest at 18% profit. He gains
14% on the whole. The quantity sold at 8% profit

1S :

U AN F 919 1000 fo6. 70 1 81 SHFH FD A
=€ 8% oY W 3 99 18% N9 T I=al 1 S8 F
14% @TH BT & | foRat amn 389 8% @Y W Sl ?

(B) 560 kg /&
(D) 640 kg/ f&.m.

(A) 400 kg/fw. 7. ®
(Q 600 kg/fw.7m.

Length of each edge of a regular tetrahedronis1 cm.
Its volume is:

TF TH IIFAF F s HR @ o 1 9H. B
THF] AT €

(A) 1—12- J2 cu.cm/SA 9 HI.

(B) g cu.cm/ ¥ G.H.

(©) i— J3 cu.cm/FF H.HL.

(D) J—f' cu.cm/ A A

A man purchased an article for ¥ 1500 and sold it at
25% above the cost price. If he has to pay I 75 as tax
on it, his net profit percentage will be::

% e 3 T 9% T 1500 H Wil R @rd 99 8
159 HAfes [ 3d o4 fean afe VW RIB/B RS
w9 1§ 1 91 € 9 S°F Fad ary w1 yiawaa #

B0t ?

(A) 15% D) 30%

B) 20% (O 25%

A number x is divisible by 7. When this number is
divided by 8, 12 and 16, it leaves a remainder 3 in

each case. The least valueof x 1s:
U & v, 7 A fausg ¥ o9 38 @ Fl 8,12 3R

16 @ Tasnfsra faar STt & o T 9\ 8§ 9% 3
'{E'HT%I :r:?l:‘ffﬁ'qmq%:
(B) 148

© 149 (D) 150

115.

116.

117.

I,.'J.
In a circle with center at O (0, 0) and radius 5cm, AB
is a chord of length 8 cm. If OM is perpendicular to
AB, then the length of OM is :

uF g9 H, fF9F Fg § O (0, 0) T R 5wt 7
sEH. 81 ABS8H.HI. ol S &1 3fg OM, AB &
da 2 @ OM &1 T fFad €2

(A) 1om/H.A0. (B) 25cm/H.HI.

(@ 3cm/TT (D) 4cm/T.T

A man travels for 5 hours 15 minutes. If he covers
the first half of the journey at 60 km/h and rest at
45 km/h. Find the total distance travelled by him.

& Afd 5w 15 A= amn &3ar 81 3fg a8 gel
ameft IEn 60 f.wt. ufq wer &1 ufd | R 9w
45 fae Y. ufg sz =1 nfa | Far & @ IHR! AEHLFT

Fd U A1d FL |

A) 270km/fEH.  (B) 1028? km/ & 41,

© 189km/fFH. (D) 378 km/fF.H1.

If a man were to sell his hand-cart for I 720, he
would lose 25%. At what price must he sell it to

gain 25% ?

Ife U fad g1 TL-TE! 1 T 720 § a4l a1 39
25% T 2T Bt | 25% T A9 I H13 F fow 39
5 S foFaA1 ®Ha | J=4! =118 ?

(A) 2768 @) T1200 (C) ¥T960 (D) T 1152

Base of aright prism is a rectangle, the ratio of whose
length and breadth is 3 : 2. If the height of the prism
is 12 cm and total surface area is 288 sq. cm, the

volume of the prismis:

=Tt &1 3T 3 2 #1 Afe e =1 S9% 12 H.A
¢ 3R A YO %A 288 o1 H.HL. §, @ (9 F
A & 7

(A) 286 cm®/H A3 (B) 291 cm/EA

(12) 290 cm?/ 4.4t

(O 288 cm®/H.H1.3

SPACE FOR ROUGH WORK / T &4 & ford smg

DE-2015/Pagel3



118.

119.

120.

121.
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A cando in one day three times the work done by B
2
in one day. They together firush = of the work m

[
9 days. The number of days by which B cando the |

work alone is:

ATH e d B AR T FE F AF@ e A <Hl
firert e w1 2 w9 fedl H n F €1 B
oret 39 FE F fEagd A H R gFar g ?

(A) 30 days/feq B) 90 days/ T

(©) 120 davs/ fea (D) 100 days/f&A

At what rate of compound interest per annum will a
sum of T 1200 become T 1348.32 in 2 years ?

- wehgfe & #1 fHy Aftfe 3T W T 1200 H AW

2 et 4 T 1348.32 7 €Al ?

A 6% (B 75% (C) 65% (D) 7%

Among the following statements, the statement
which is not correct is :

(A) Every integer is a rational number
(B) Every natural number 15 an integer
(C) Every natural number is a real number

(D) Every real number is a rational number

frefafigd we=i 3 ° 149 91 FI7 Gt 7ol © 7
(A) eI qolies 9T HEt € |

(B) WEF Uhfdeh HEH TH T 2|

(O YT Tipiae S U Arfas G
(D) WeI® arafas W UF 9T HEA €

How much 661;- % of T 312 exceeds T 200 ?

2312 1 662 % T 200 & Fobaen a7firs & 7

(A) ¥104 (B) T9% (O 4 ) T8

122. If A, B and C be the angles of a triangle, then out of

123.

124.

125.

the following, the incorrect relations.

afe A, BIANC U 5y & Fiw E a1 fA=faf@a # 4
e HaY HA-T1 8 ?

. A+B_ _C

(,6,) S1n —cusz
+ B

(B) EGS(Az ]=sin—

_. A+ B C

((:] tan[ 5 )=5E'.'C-—

A+B B

(D) cot > Jﬁtan—

12

If.J],'r =4x, &Eﬂ?iﬁ:

"qﬁﬁ=4x'%,?ﬁ§%:

(A) 4 (B) 2 O 15

Afterallowing a discount of 20%, a radio is available
for ¥ 1200. Its marked price was :

20% Wt T2 27 F Fe TH e T 1200 F 3T T

TqH Afwd ged fFaT 82
(A) T 1400 B) T 1530
@ T 1500 (D) T 1800

The average of 12 numbers is 15 and the average of
the first two is 14. What is the average of the rest ?

12 Sl &1 3fwd 15 ¢ 37 9gdl & T 6l
3T 14 21 Y HEEH w1 AEd |80

A) 141 ® 15 © 15% D) 14
"y

SPACE FOR ROUGH WORK / & &%Td = o sTe

DE-2015/Pagel4



126.

127.

128.

129,

130.

www.eenadupratibha.net

The numerical value of

i +4cos2@ + G =

cosec’d 1+ tan“@,
P
9 5 5 .
;- t4cos™0 + 5= &l GEATHE °H

cosec” 0 1 +tan~6
T
(A) 4 B) 5 © 7 D) 9

A, Band Ccan complete a piece of work in 24, 5 and
12 days respectively. Working together, they will
complete the same work in ;

A, B3R CUF w[@ w1 FA: 24, 53R 2 fead s gsa
€| 3w 1y e 30 o &l fovaq fei 4 qu i ?

1 7
(A) > days/fa (B) 2 da:r*s;’ﬁ'ﬁ
© 3;— days/fea (D) 4 days/f<A

If the ratio of principal and the simple interest of
5 years is 10 : 3, then the rate of interest is :

afe ga1 4= 3R 5 99 & AT 1 991 10:3 §, I
T &I G FM 7
(A) 3% B) 5%

10) 6% D) 8%

In AABC, ZB=90°, AB=8 cm and BC=15cm
thensinC=7?

afe AABC #, £«B=90°, AB=8 @.HI. 3T
BC=154.H. 8 @l sinC="?

8 15 8 - 15
A) 15 ® 7 O 3 D) 3

ZA of AABCisarightangle. AD is perpendicular
on BC. If BC=14 cm and BD =5 cm, then measure

of ADis:

AABC 1 ZA T&F THI 1 AD, BC W @a &1 | 134

Ffe BC=149.51. AR BD =54.41. €, 9 AD FI 49
g
(A) 3.5(5 cm/H.AL.

© 5 cm/HHL.

B) 245 cm/H.H.
(D) 35 cm/d.Hl.

132

133.

X +2 ¥* =
Ifl = 2 , then the value of 1? }f2 IS :
y a-—2 x“ 4+ y
SRS el B L S
') a—2 1 -[-_1;
2a 4a
(A) az+4 (B) az+2
2a > 4a
© 742 Q) 24
If cosb = E—p =% then the value of tanf is :
VvP© 9
afe cosh = zP : 2 Wtand FTAMA & :
VP +q
R q
A 2 2 2 2
& T ® o
© E (D ;
q ) p2+q2

The ratio of syrup and water in a mixture is 3 : 1,
then the percentage of syrup in this mixture is:

T fago § 9ot 3R ot F1 eu 301 €1 39

fago 4 arert 1 sfavraa feat 82
(A) 33%-% (B) 75%
© 25% D) 66 %%

If tan® + secB = 3, 6 being acute, the value of 5 sinf
: )
1S5 - (3 5 il

IfE tan0 +secd=3, 0 FA E A1 55ind FIHAF T :

O % O Yz

5
) 4 (B 3

SPACE FOR ROUGH WORK / 1% &1d & o sirg
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136.

137.
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A plate on square base made of brass is of length
x cmand width 1 mm. The plate weighs 4725 gm. If
1 cubic cm of brass weighs 8.4 gram, then the value

of xis:

FIFR YR T T TH e i Tf FHi oA
9., A SeE 1 fadl. 81 <ie &1 954 4725 TH
2 A1 o § foa FT A 8.4 T &, &1 « I

A e ?

(A) 74 D) 72

B) 75 © 76

The quotient when 10! is divided by 57 is :
1010 &y 575 § foiferd 13 W HITH R :

(A) 279 x10% (B) 225 x107° h

© 10% D) 275

If ABCD be a rhombus, AC is its smallest diagonal
and ZABC = 60°, find length of a side of the |

rhombus when AC=6 cm.

afe ABCD TF THEqHs 2, AC &qvH fasul €, |
JABC = 60° HATAC=6cm € T GHIqHS it 1
S AR J1d

(A) 3.3 cm/E.HL (B) 6 cm/H.Hl.

© 3cm/ 9.1 D) 62 cm/ 4 .

In AABC, AD 1 BC and AD?=BD-DC. The
measure of /BAC 1s:

afe AABC ¥, AD L BC 3R AD2=BD-DC &,
/BAC STHM T :

A) 45° (B 60° (O 75 (D) %0°

139.

140.

141.

If x=a(b—c), y=b(c—a), z=c(a—-b), then the value
NEARN CA N ES
' a b (c =
afe x=a(b—c), y=b{c—a), z=c(a—b) &, dl

(T (5] + (e s

3xyz 2 xyz
\ abc (B) abc
XYz
O e D) 0
(x +y + z)z _
Ifx=y=2z then — 5 1S

X + y* + 2

(.1‘-!-:;1—:}
W x=y=o b ST TE g

24y + 2

(A) 1 B) 4 © 2 @) 3

If Rahim deposited the same amount of T x in a

bank at the beginning of successive 3 years and the
bank pays simple interest of 5% per annum, then
the amount at his credit at the end of 3™ year will | |

be: |

ofe W@ &g dF 981 % WY § 999 T Tx TF
F T 5 HLA © SR o F 39 5% wfagy &1 Wy
=9 eal € °F 19 99 & 31d § 3@+ @ 9 Fadl

afe =t ?

26431 861
A) g 2581 z 0L,
() T 000 ®) 210"
1261
< D)y ¥ :_
& ¥ M R

SPACE FOR ROUGH WORK / 1% &T4 & fordl W'g
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The total expenditure of a company for a particular month
is ¥ 60000. The various heads of expenditure I to IV are

indicated in a pie chart given below. These heads are
L Raw materials [I. Conveyance

M. Electricity IV. Overhead expenses

frdt fasy or@ ® U SO F1 Fd 79 T60000 1 T

#1131V # fafim =7 71 F=fatas 6 96 & 9 7™
Bl AT E:

L &=l |1l . 9iEsEd

m  feerl V. 3Ufeag
M Nn
790 108

Study the pie chart and answer Question No. 142 to 145.

The following chart represents Demand and Production
for 5 companies ABCDE.

| fa=fafeg =i § 5 559941 ABCDE i 9T 3{7 37 3c015T

T AT TR
demand production
3500t e e o
3000 ' 1
S S 2700 .
2500 ,
2500 et Sas
200 1800
1500
1500 )
1000 }ad0
1000
600 ay =
5001 -
A B C D E

On the basis of the graph answer Question No. 146-150.
TF & AR T 997 &A1 146-150 1 T < |

146, If the production of cocmpany D is h times of the

production of company A. Thenh equals:
Jfe 1) FPHT Rl 9T A H9H1 & SARA FIh T ©

4l h frges T € 7

T =1 1 e R Y9 T 142 9145 F I S ) 1.8 (B) 1.5 © 25 D) 1.2
147. 1If company A desires to meet the demand by
142. What percentage of total expenditure is on raw purchasing surplus production of a company, then
materials ? the most suitable company is :
ferdt ST o ST Seure o1 Eiee ST
Fe Wil W AT Fol 47 1 fha Jiaerd € 7 I[!:q—ﬁ :?f . S SRR, S
) 220 e - " it Sl [ HET FIEd] 2, A T 3T FEH] B H 6
(A) D (®) . (©) 30% (D) A) B B) C (O D D) E
; 148. The ratio of the number of companies having more
?
e WRbhicamiisne f“ CEE R R demand than production to those having more
IYREF &I YU F & 7 production than demand is :
(A) T 10,000 (B) T 12,000 Ieqred o Hfge win &ell wwfadl 1 d) 9T F
e %
Q) T 15,000 ©O) % 18,000 AT S A FEACFAl H1 ST E
(A) 2:3 B) 4:1 Q 2:2 &) 3:2
144. What percentage of total expenditure is on | 149. Thedifference betweenaverage demand and average
electricity ? production of the five companies taken together s :
fersiell W 99 dl A4 H1 fha ylawd 8 ? arel sl &1 et I i 7 R
‘ STRTd IeTeA H ST T
1A)Y 20% 23% 25% 30% '
(A) 20%  (B) © ) s (A) 620  (B) 400 @ 280 (D) 130
145. Total expenditure onconveyanceis: 150. If x% of demand for company C equals demand for
. company B, then x equals :
PIECEE] c : N - S Poe o mo w3 g
I E g1 94T C =h1 {11 1 x% T4l B &I AT 6 90 7,
(&) <10,000 (B) < 12,000 & x fFa SR §
(© 15,000 (D) ¥ 20,000 (A) 4 (B) 24 () 20 D) 60
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FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CANDIDATES ONLY

142.

143.

144.

145.

oo Sheartd /Afee uredt Sueani o fou

The value of (1 +cosA) (1 --cosA) (1 + COt?A) is :

Thevaluec:f(\/gﬁ-ﬁ) [J;fg\ﬁ - ﬁfﬁ]
1S : '

33 J5
(J-+J§)[f+\/’ \/‘.L\/_]mm%
(A) V2 (B) 2
O 2v2 D) 2-2

The graph of the linear equation 3x—-2y=6
intersects x-axis at the point:

@ T 3x — 2y = 6 T AT x-3784 =l T fag
R FHIEd § ?

B8 (0.3)
D) 2 —3)

(A) (0, =3)
© 0

If /5 — /3 =a, then the value of /5 + /3 will
be:

AE f5-J3=2a & A J5+ J3 FIHAREM?

2 a

A) 3 ® 3
1

© 0 (5) iy

The missing term in the following product
(2a3-3) (5a®—2)=10a%+_____ +6is.

frefafea 4 4 @@ 98 #1272

(2a3-3) (3a®-2)=10a"+______ +6.
(A) 19a’ By -19a°
Q) 16a° (D) - 16a®

146.

147.

148.

149.

150.

(1 +cosA) (1 =cosA) (1+ cot’?A) FIHM B :

(A) 1 B) 0

Each of two angles of a polygon is 90° and other
angles are 120° each. The number of the sides of the

polygonis:
T Igd & YoU® &l IV 90° € 3R 371 T 17

120° 1 9 H U fehaHl € ?
(A) 6 (B) 7 © 5 D) 10
1 o
If p=3+ —, then the value of — P IS
P pe+p—1
1 - op ;
gfe p=3+— 8 @A —— FIAHAT :
P p° +p~1
e, 1 1
@23 ®1; ©1 ©) 33
For 0°<8=<90°, the value of
sin(90° — 8)secH + cos(90° — D)cosech is :
0°<9<90° & fau
5in(90° — B)secl + cos(90° — 8)cosech FTHM T :
(A) 0 (B) 1 Q -1 D) 2

If the surface area, volume, height, base-area and
perimeter of base of a right prism be S sq. unit,
V cubic unit, h unit, A sq. unit and P units

respectively then:
ofe t& o 5w &1 yS" 8%, I, TR,
HHUR-ATFA T 9Rg™ FHIA: S I7 F74e,

VI g2, h JfAz, AT gfe simpgfe @14 . I

v AP P
(O P=AVS (D) SP=AV
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151.

152.

153.

154.

155.
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PART - IV / 9T - IV
GENERAL AWARENESS / ATd WATHehNl

The Lalit Kala Akademi is devoted to the promotion
of :

#\) Dance and Drama (B) Fine Arts

(O) Literature (D) Music

wiferd el STFTEHT fFAF Haeid & fag gafid 87

(A) I4 U9 AEH (B) WfeAd <hell

(O e (D) dTrd

Natural system of classification was proposed by
botanists.

(A) British (B) Indian

(CO) German (D) Swedish

ritaRTon 1 Wi fae faeen fed areaia famrn 3 veqd
faman o1 ?
(A) fafen
(ORELE!

(B) WRdMHA
DESUEL

The amount of matter in a ball of steel is its:
(A) Volume B) Weight

(© Mass (D) Density
=TT % el | YeTd HT WA IEH 1 AT € 2
(A) 3 (B) T

(©) ==AHrH (D) =7

Iron filings can be separated-from a heterogenous
mixture using the technique of :

(A) Evaporation (B) Sublimation
(©) Magnetization AD) Sedimentation

fyg-figgm @ @R F1 Wd FI 9 THAE 9 9UF
fop T <11 Tahdl & ?

(A) STSHIHIOT (B) JEUEH

(D) HSHICH

(Q) TrehIHT

Which was the first linguistic state to be created ?

(A) Maharashtra (B) Kerala
() Tamil Nadu ) Andhra Pradesh

gy YT UsF Ty ST 1747 o1 ?
(A) TR (B) HId
(OREILEEIE D) Y g

DE-2015/Pagel9

156.

158.

159.

160.

Who built the famous Shiva temple at Ellora ?

(A) Chalukyan King Pulikeshi 1l

(B) Rashtrakuta Ruler Krishna I

(©) Mauryan Emperor Ashoka

(D) Gupta King Samudra Gupta

e § yfag foe wfex =1 i fema saEmm a7

(A) TTAF TSI A 11
(B) TZF IMHE FHM ]
(O T §YR el

(D) T WIEF T

Plank’s cn-nstant has the dimensions of :

(A) force (B) energv

(O) linear momentum (D) angular momentum
©iF & AR Y fhgaT S/ 2d1 § 2

(A) ¥ (B) Fi

© fa= i (D) Firg 1A

World wild life fund was founded in:

favg 9= g iy =1 forem=amm f&3 ad &
o /

(A) 1961 ©) 1969 (D) 1992

(B) 1965

By whom was the autonomous mvestment scparated
from induced investment ?

(A) Adam Smith
(O Malthus

fog w@rgd faw &1 9fta Hev 4 9y 31 o1/

(A) U=EH Y (B) I
Q) TeTH DEEIERUERE

(B) Schumpeter

(D) Joan Robinson

The most suitable unit for expressing nuclear radius

15 .

(A) mucron (B) nanometre

() fermi (D) angstrom
=pfeert e 1 atfirsrea #33 % oy 798 3TA
iz F 87

(A) W (B) TS

(© ) T



161.

162.

163.

164.
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Which of the following phenomenon helps to
conclude that light is a transverse wave ?

(A) refraction {B) interference
() diffraction (D) polarisation
faeferfigg § | $9-91 921 98 (v &1 § 9e9&

Bl & o YT UF ST T R 7
(A) 3TTEH (B) SAfGHI
© foad (D) YAt

Minamata disease is caused by pollution of water
by :

(A) mercury (B) lead

(©) tin (D) methyl isocyanate
e 0 fras g ot % 9guu | therdr € 2
(A) TS B) @€

© fe (D) Hfae EHEEAE
Mixed Economy means :

(A) Co -existence of small and large Industries

(B) Promoting both agriculture and Industries in
the economy

(©) Co -existence of public and private sectors *
(D) Co -existence of rich and poor

fafyq sreferasen =1 01 A998 2

(A) B2 3 oS AN H1 TE- A |

(B) Ieferary # FHfH i ITM A T Tewe &
Q) 9t d fAsit &= =1 ¥e- A

(D) 3THR U& THie &l G8-Ae

In which of the Round Table Conference Mahatma

Gandhi participated ?
(A) First Round Table Conference, 1930

(B) Second Round Table Conference, 1931

(O) Third Round Table Conference, 1932

(D) Allof the above

FH @ e TS e 5 Tered w3 ar fa
o/

(A) WY T 7S T, 1930

®) Tgdra e 75 FHIeT, 1931

(O Fara e 7S HHeH, 1932

(D) 394 g §

DE-2015/Page20

P

165.

166.

167.

168.

169.

The headquarters of the Survey of India Dept.
(department) is located at :

(A) New Delhi (B) Jaipur

1C) Dehradun (D) Hyderabad
T T a0 fARTT & AT Fal (5d 7 7

(A) 72 fee= (B) FAR

€ <=H (D) FETER

The first Bio-sphere Reserve in India has been
established in :

(A) Hazaribagh (B) Kanha

(©) Nilgiri (M) Nanda devi

yRd § 9YH A99ed (6d $T T &8l 53 41 2
(A) TS (B) Tl

© =rafift (D) a1 2di

Todar Mal, the brilliant revenue officer served

under :
(A) Baz Bahadur (B) Sher Shah

() Bhagwan Das (D) Humayun
AyqpEt T AfFRT T Td 3 [FFF A7 91 =]

ot ?
(A) TS SETgt
(O ¥T&aH ™

B) IR
D) T4

Dr. P. Rama Rao Committee is related to which of
the following ?

(A) Agriculture (B) Taxes

(C) Defence (D) Industry

2141, vmrE wiafq fFefafaa & | fFed gefuq g2
(A) FH (B)

© (D) JM

Transpiration increases in :

(A) Cool, dry and still condition

(B) Hot, dry and windy condition

(C) Hot, damp and windy condition
(D) Cool, damp and windy condition

yraeq T frafa § 9gar 82

(A) TEI, T 377 iiq frafa 4
@) T, I SR Faner feufa #
(O TH, 38 HR TR frfd F
(D) €1, 79 IR FaEr feufa |
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170. Rand is the currency of :

171.

17Z

173.

174.

175.

(A) Norway (B) Namibia

JO Iran (D) Romania
Efracu=sIqaIe?

(A) 4 (B) HIfer
© TH (D) T

Among the following districts of Tamil Nadu, which
district is unfit for cultivation due to increased
salinity :

(A) Ramanathapuram  (B) Coimbatore

(O Tiruchirapalli (D) Nagapattinam
afreg ¥ frafafaa fedl § ®F-91 e daom

gfg & R Gdl & I T2 2 ?
(A) TEAIYE B) FHETR
© faefauge (D) AMMYgTH

What is the number of players on each side in Rugby
Football ?

TrE1 Fedia d§ Yo 94 | faenfedl +1 faat e
=TT & 7

A 11 (B) 15 © 16 (D) 12
How much of world’s surface is covered by water ?
forea & fore e & W @ 2
(A) 25% (B) 55% (O 70% (D) 80%
The largest reservoir of fresh wateris:
(A) Lakes (B) Glaciers
(O Ground Water (D) Ponds
1S g1 &7 gad TS Teed H18 7
(A) # (B) TR
© oM (D) e
What is Kyoto Protocol ?
AA) Itis an agreement among countries to take steps

for reducing global warming |
It is an agreement among countries to take steps

for reducing acid rain
(O) Itisanagreementamong countries to take steps
for planting trees to control pollution

[t is an agreement among countries to start using

® nuclear energy

FNEl YISl 1 ¢ ?

(A) TE TS AHT HI FHH FH F 3TE FH & U
< % 9 HIN EA T

(B) T T Tl N FH FA F YN F F AU
O F T FW AN

(Q) T YU Frg=01 & fefq g&ao &3 & 3E &
foru <9l & o9 IR & B

(D) I8 facrax Sl 1 YA Y& 6 & fo7g <9 &
19 IR BT € |

(B)

)E-2015/Page21

176.

177.

178.

(

3

180.

Which Article of the Indian Constitution deals with
Election Commission ?

{A) Article 324 (B) Article 352

(O Article 356 (D) Article 360

AT GfGeE &1 FE-T1 dq=0e [argqd =™ 9
afd €7

(A) FAT=3E324 (B) 3TT%9a 352
(O T 356 (D) STT=E 360

Which of the following Scientist proved that the path
of each planet around the Sun is elliptical ?

(A) Copernicus (B) Kepler

(C) Galileo (D) Newton
Freaferfaa o @ fr St 3 78 frg fa fe @
% AR AR YeAF &7 &1 HF SEGAHR € 2

(A) HIGTHE (B) =R

(© it D) =

The Simplest CPU - scheduling algorithm is

(A) FCFSScheduling algorithm

(B) SJF Scheduling algorithm

(O) Round - robin scheduling algorithm
(D) Multilevel scheduling algorithm

Ty W4T~ A= o fafy e ?
(A) T H1.UE. T g1 Ford fafd

(B) TH.S.UH. A= e fafy

Q TES-UfeA ggT eAd fafy

(D) FEIT YA Ferd fafy

Amino acids are required for the synthesis of :

(A) Carbohydrates (B) Alkaloids

(O) Lipids (D) Proteins

7

(A) FERESE
©Q fafre

When was the League of Nations established ?

(A) In 1914 (B) In 1918
(O In 1920 (D) Tn 1939

qZ-HH &1 LY Fd F T3 4 7
(A) 19141 (B) 1918 1
Q) 1920 D) 19397

(B) UTHAIES
(D) 9IEH
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182.

183.

184.
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A demand curve will not shift :
(A) When only price of the commodity changes

(B) When only income changes
(© Whenonly prices of substitute products change

(D) When there is a change in advertisement
expenditure

i F5F e Aarid Tel sl ?

(A) & Feel aEgSl 1 HIAd TCew! €|

(B) S hael A Fewrdl @ |

(O a Fael Yasf IRl H1 HI9d TGl ¢ |
(D) v foare = § i seard gl ¢ |

Who discovered the link between electricity and

magnetism ?

(A) Michael Faraday (B) Volta

(©) Maxwell (D) Diesel

foregd 3ie A ¥ A foi 1w o 1 o2
(A) TEHA HTS (B) dl

(ORE:ELES (D) S¥d

Arundhati Roy is the author of :

(A) My Childhood Days

(B) God of Small Things

(C) Disgrace

(D) The Tin Drum

TEye Td ford s &t dfEeh €2
(A) T TETSES S

B) s AfH Wi I

© feurd

D A

When price of a substitute of commodity “x’ falls,
the demand for ‘x" :

{A) rises

(B) falls

(O) remains unchanged
(D) Increases at increasing rate

W‘x’ﬁﬁ%ﬁﬁﬁﬁ[mﬂﬁ?ﬁ%?ﬁ’r’ﬁ
qr :

(A) =T ST €|

(B) FH & il &

© 3Tfafdd &t 2

(D) THHM T W &l 8 |

DE-2015/Page22

186.

| 187.

188.

189.

190.

185.

The most abundant element by number in the living
systemis:

(A) Carbon (B) Nitrogen

{C) Hydrogen () Oxvgen

Sa o5 § Tem & gfte A gaifus FgarEd § FH-H
deal qT41 STl & 7

(A) FrEH (B) AEZIA

(O TESHA BRI
Christmas factor is involved in:

(A) Respiration (B) Blood Coagulation
(O Excretion (D) Digestion

forera e fFmd fAfed @@ 272

(A) 99 (B) T3 STHIE

© I (D) =4

Who is the author of the book “Romancing with
Life” ?

(A) Bill Clinton (B) Kapil Dev

(O Dev Anand (D) Shashi Tharoor
it fag oeE’’ Ad F a@E H € 2

A) faa fedea B) *fuad 4

(O <3 FHe (D) vIfeT 9%

The time element in price analysis was introduced
by :

(A) J.R Hicks (B) J.M.Kevnes

(O Alfred Marshall D) ].5. Mill

F0q favergu § 997 9 e I o an?

(A) 3.3 fe= (B) W.UH. FH

(O FSHS AN (D) 9.u4. [

Where did the Black-Hole tragedy took place?

(A) Dacca (B) Monghyr

(C) Calcutta (D) Murshidabad
AF -2 TES] Fel J2t °f ?

(A) T ) TR

(C) ekl (D) qEER

If xylem and phloem are arranged in the same radius,

such a vascular bundle is called :

(A) radial (B) collateral

(O) bicollateral (D) concentric

afe SEEH X TACH B U © A H AT
foran T A1 UR TAR T 1 1 F8d € /

(A) T4 (B) HIMEF
(@RS RIREES (D) 2
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India born Vijai Sheshadri won the prestigious 2014
Pulitzer Prize in which of the following categories ¢

(A) Journalism (B) Music

(O) Poetry (D) Drama

i o 9 faera ymife 3 fr=fafea 9 9 fee gon 4
yfafesa 2014 gferer YRR Siar 41 ?

(A) THHIE (B) @i

(C) ie (D) TeF

If the President wants to resign, he shall address his
letter of resignation to :

(A) Chief Justice of India

(B) Prime Minister of India

AQ Vice- President of India

(D) Speaker of Lok Sabha

gfe ueyfd ©@P-99 o 91 @ 98 JATH @R-9A
fat waifea &N ?

(A) WG F eI ™

(B) WA % FuM =il

(O YA & 39-TLId

(D) AIEHHT

The “King of Metals” 1s :

(A) Aluminium (B) Gold
Q) Silver (D)} Iron
“ ot o T AR

(A) Tgfuatm (B) HI
© =i (D)

Which of the following rivers originates from Trans
Himalayas ?

AA) Ganga (B) Yamuna
(O Sindu (D) Saraswathi
freafafea § @ -1 92 feqer & TR 9 M
87
(A) T (B) A
© fay (D) AT

Who composed the Allahabad Pillar inscription ?
(A) Vishnusena (B) Harisena
(O) Mahasena (D) Veerasena

TaREE Wy fema fEga F9amEr o1 ?
TNRELIGE] (B) TREA
(O HewH (D) FHE

DF-2015/Page23

«AC) April 22

199. All forms of ROM are also known as _

Earth day is celebrated on:

(A) February 16 By Apnitd

(D) September1/
geal faa® Fd WA Hidl & ?

B) 4 HTH

(D) 17 fadat

197. Kathakali is a dance prevalent in which state ?

_(A) Orissa '@) Kerala

() Andhra Pradesh * (1J) Tamil Nadu
FHUFel T F1 997 e 03 4 ¥ 7

(A) SEE B) A

(@RI PR R (D) wfEerg

198. Kimonao is a dress style of which Asian Country ?

(A) China (B) Japan
() Korea (D) Laos
fprrT formy T 29 &1 T W6l 7 7
(A) = (B) I
() i D) =g

(A) Shareware (B} Freeware

() Middleware (1)) Firmwware

ROM ¥ Fsft ¥ 1 3K #491 7% 2 7
(A) IFEH (B) T
© fafsa=m D) FHIT

200. Blowing Air with upen pipe is an example of :

(A) Adiabatic process (BY Isothermal process

(C) Isochoric process (D) Iscbaric process
T gy A FMEA fETe e E
(A) TSRy B) FHAM giFEa

(QIE:LEIRGE IR SE R (D) THATET T

-0()o-
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